


1. Решите пример и напишите ответ 
словами.

Н-р: twenty + fifty-eight = seventy-eight (20+58=78)
⚫ Sixty-two + fourteen = …  
(Seventy-six )
⚫ Fifteen + two hundred and forty-six = …  
(Two hundred and sixty-one )
⚫ Ninety + ten = … 
(One hundred )
⚫ Thirty-one + nineteen = … 
(Fifty)
⚫ Seventy-three + eighty-two = … 
(One hundred and fifty-five )
⚫ Three thousand one hundred and twelve + ninety-nine = … 
(Three thousand two hundred and eleven)



Напишите дроби словами.
⚫ Н-р:   5/6 – five sixths,  2/3 – two thirds
⚫ ½                                  
⚫ 5/8                               
⚫ 1/3                               
⚫ 4/7                              
⚫  9/10
⚫ 11/12
⚫ 2/5
⚫  ¾

One half 
Five eighths
One third 

Four sevenths 
Nine tenths

Eleven twelfths
Two fifths

Three fourths



Расставьте следующие варианты 
в хронологическом порядке

1) It’s twenty to one.
2) It’s twenty past twelve.
3) It’s five to one.
4) It’s a quarter to one.
5) It’s half past twelve.
6) It’s a quarter to twelve.
7) It’s a quarter past twelve.
8) It’s noon.
9) It’s five past twelve.

10) It’s five to twelve.



Выберите в скобках правильное время.

⚫ It’s twenty past eight. (7:40 – 8:20 – 8:40) 
8:20
⚫ It’s half past seven. (6:30 – 7:30 – 8:30)
7:30
⚫ It’s a quarter past five. (4:45 – 5:15 – 6:15)
5:15
⚫ It’s a quarter to ten. (10:15 – 10:45 – 9:45)
9:45
⚫ It’s ten to twelve. (12:10 – 12:50 – 11:50)
11:50
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